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Monthly averaged wind velocity by MF radar at Tromsoe for December 2019
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Monthly averaged wind velocity by MF radar at Tromsoe for December 2019

North East

o

o

> ¢
o

o

> 4
o

o

o

o

mean sigma = 16.446 mean sigma = 16.356
E ] 100 ]
2 3 50 1
W ; 0 - 82km
: E 50 E
C i -100E i
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 14.807 mean sigma = 13.892
E 3] 100: 3]
; b T o g ey T ~ 79m
3 3 50F- 3
E E -100F E
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 10.469 mean sigma = 11.195
E 3] 100: 3]
= E 500 \ fA\\ E
f A ] ““JNWWWMWVW\V \/ \ | ]
gl M i A G R e 76km
E \N/\ 3] E 3]
g E 50 E
E E -100F E
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 8.164 mean sigma = 13.762
E ] 100F ]
= | 50; . |
g | / 1 g | AWWM A J 1
£ A B B £ B
:7 """"" \"%\"W'\ """"" %"""7: 0:7 """"" \ """"""""" \"""""'W"é 73km
E W | E |
2 E 50 E
E E -100F E
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 6.164 mean sigma = 13.167
E ] 100F ]
W e
3 3 50F- 3
2 E -100E i
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 5.648 mean sigma = 15.358
E ] 100: U' ' |
? /AM é 50? LMJ é
3 3 50F- 3
£ 3 -100E i
0 4 8 12 16 20 0 0 4 8 12 16 20 0
mean sigma = 0.000 mean sigma = 0.000
F ] 100¢ n ]
5 NATE ] 50 ]
3 3 50F- 3
E E -100F E
0 4 8 12 16 20 0 0 4 8 12 16 20 0



